
S2 Appendix. Formulae used to compute the standard error and 95% confidence interval of N 

(estimate number of both distinct and unmarked individuals) 

 

The standard error (SE) of the estimate number of all individuals (distinct and unmarked), N, was 

computed as follow: 
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where Nd is the estimate number of distinct individuals (output from the model), θ is the proportion of 

distinct individuals in the population and n is the number of sightings used to estimate θ. 

 

The 95% Confidence Interval was calculated with a lower limit of N°low =N° / C and an upper limit of 

N°up=N° X C, where: 
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